Breuken

Oefening 1 Oefening 2
5 5
.10 + 7— = 1.4 + 3— =
6 9
7 7
2.3 o+ 1— = 2,10 + 7T— =
10 9
12 6
3. 10 + 5— = 3. 6 + 22— =
16 9
8 16
4. 8 + 5— = 4.6 o+ 4— =
9 20
6 18
5 10 + 4— = 510 + 6— =
9 20
Oefening 3 Oefening 4
8 5
L7 + 6— = L5 + 4— =
10 9
3 5
2.8 + 1— = 2.9 + 3— =
5 7
7 12
3.8 + 4— = 3. 10 + 8— =
10 14
9 9
4.9 + 2— = 410 + 3— =
10 10
4 6
509 4+ 3— = 507 4+ 1— =
5 7
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Werkblad: Heel getal optellen bij een breuk |

ANTWOORDEN

Breuken

Oefening 1 Oefening 2
5 5 5 5
.10 + 7T— = I — . 4 + 33— = 7 —
6 6 9 9
1 7 7
2.3 + 1— = &4 — 2. 10 + 7T— = 17—
10 10 9 9
12 3 2
3. 10 + 5— = Is§— 3.6 + 22— = 8 —
16 4 9 3
8 8 16 4
4. 8 + 55— = 18— 4.6 + 4— = 10—
9 9 20 5
6 2 18 9
5 10 + 4— = I4— 5 10 + 66— = 16—
9 3 20 10

Oefening 3 Oefening 4
8 4 5 5
.. 7 + 6— = 13— 1 5 + 4— = 9 —
10 5 9 9
3 3 5
2.8 + 1— = 9 — 2.9 + 3— = 12—
5 5 7 7
7 7 12 6
3. 8 + 4— = 12— 3. 10 + 8— = I8—
10 10 14 7
9 9 9 9
4.9 + 2— = Il — 4,10 + 3— = 13—
10 10 10 10
4 4 6 6
5 9 + 3— = 12— 5. 7 + 1— = 8 —
5 5 7 7
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